Efficiency vs dr

0.5

efficiency vs AR
=}
D

11 T
—s=— DQM_| - K actedGeoms_rescaleError100
—e— DQM_mkFit_TTbarPU50_extractedGeoms_rescaleError100_pTCutOverlapOp0

rescaleError100_pTCutOverlapOp0O_dynamicChi2CutOverlap
T
ll
R

1078 1072 107 1

0.95 .

TP min AR

[ Efficiency vs dr (track,jet) |
§ 0.2
0 0.18F
= E
o
z 0.16F
20.14F
> o
20.12F
0.1F
0.08F
0.06F
0.04F

0.02F

efticie

[y

107 1072 107t
AR(TP, jet)

Efficiency vs pu

0.5
0.45

0.35

efficiency vs PU
o
D

o
w

0.25
0.2
0.15]
0.0F -+ : , :
e e e

L

Ratio

LT
d

T TT
n
v

o
w
o
N
o
(62| o
o
[
o
~
o

0.95 30

Pileup



	Contents
	Page 1


